

Observation:  $\forall \sigma \in \text{Aff}_2(k) \exists! \bar{\sigma} \in \text{Aff}_2(L)$

$K \subseteq L$  [31.3]

such that  $\bar{\sigma}(x) = \sigma(x) \forall x \in A^2(k)$

Concretely  $\bar{\sigma} = \tau_{\underline{a}} \bar{\sigma}_0$  for  $\underline{a} \in \text{Aff}_2(k)$   
 $A \in \text{GL}_2(k)$   
 $\tau_{\underline{a}} \in \text{Aff}_2(k)$   
 $\bar{\sigma}_0$  will be some  
 $\Rightarrow \bar{\sigma} = \tau_{\underline{a}} \bar{\sigma}_0$  different. Cf. 38-10.

[18N]  $\bar{\sigma}$  denotes the extension of  $\sigma \in \text{Aff}_2(k)$  to  $\text{Aff}_2(L)$  from the observation.

Observation ④ Let  $\sigma \in \text{GL}_2(k)$  and  $\tau \in \text{Aff}_2(k)$

- (1)  $(\sigma^{-1})^*(a(\sigma^*(x), \sigma^*(y))) = a(\sigma^*(\sigma^{-1}^*(x), \sigma^*(\sigma^{-1}^*(y))) = a(x, y)$
- (2) if  $f(x, y) = a(\sigma^*(x), \sigma^*(y)) \Rightarrow a = (\sigma^{-1})^*(f)$

(3)  $(\bar{\sigma})^*(a) = \sigma^*(a) \in k[x, y]$  Concretely: We need a description of substitute  $a(\sigma^*(x), \sigma^*(y))$

Observation ⑤ Let  $\sigma \in \text{Aff}_2(k)$ ,  $(\tilde{x}, \tilde{y}) \in \text{GL}_2$ ,  $u = \sigma^*(x)(\tilde{x}, \tilde{y})$ ,  $v = \sigma^*(y)(\tilde{x}, \tilde{y})$

- (1)  $(u, v) = (\bar{\sigma}^*(x)(\tilde{x}, \tilde{y}), \bar{\sigma}^*(y)(\tilde{x}, \tilde{y})) = \bar{\sigma}(\tilde{x}, \tilde{y})$
- (2)  $(\tilde{x}, \tilde{y}) \stackrel{(\ast)}{\cong} \bar{\sigma}^{-1}(u, v) \Rightarrow k(\tilde{x}, \tilde{y}) = k(u, v)$
- (3)  $(\sigma^{-1})^*(f)(u, v) = f(\bar{\sigma}^{-1}(u, v)) \stackrel{(\ast)}{=} f(\tilde{x}, \tilde{y})$

Concretely: We will find  $\sigma \in \text{Aff}_2(k)$  for which  $(\sigma^{-1})^*(f)$  will be of the form  $w$

Lemma 5.7: Let  $L$  be an AFF over  $k$  given by  $f(x, y) = 0$ ,  $f = (f_1, f_2) \in A^2(k)$ ,  $A \in \text{GL}_2(k)$ ,  $\sigma = \tau_{\underline{a}} \bar{\sigma}_0$ ,  $(u, v) = \sigma(x, y)$ ,  $w_\sigma = (\sigma^{-1})^*(f)$ . Then:

- (1)  $L$  is an AFF over  $k$  given by  $w_\sigma(u, v) = 0$ .
- (2) If  $f$  is smooth at  $x \in V_f(k)$ , then  $\exists A$  such that either  $w_\sigma = y$  or  $w_\sigma = a(x) + b(y)$  where  $a \in k[x]$ ,  $b \in k[y]$ ,  $\text{mult}(a) \geq 2$ ,  $\text{mult}(b) \geq 1$ .
- (3) Let  $A_x(k) = a_1(x - x_1) + a_2(y - y_2)$  for  $x \in V_f(k)$ . Then  $A$  is a matrix fun(x) (ie  $\sigma = \tau_{\underline{a}} \bar{\sigma}_0$  substitute the matrix  $A$  of the form of (3))  $\Leftrightarrow$

$$f(x_1, y_2) \in k[x_1, y_2] \quad A = \begin{pmatrix} a_1 & b_1 \\ a_2 & b_2 \end{pmatrix}$$

Proof: (i)  $(\sigma^{-1})^*$  is an isomorphism  
 (ii)  $f$  is irreducible  $\Rightarrow (\sigma^{-1})^*(f)$  is irreducible

(iii) Obs B(3)  $\Rightarrow w_\sigma(u, v) = f(x, y) = 0$   
 (iv) Obs B(3)  $\Rightarrow k(u, v) = k(x, y) = L$   
 (v)  $x \in V_f(k) \Rightarrow \exists a_1, a_2 \in k \exists \tilde{f} \in k[x, y]$  with  $\text{mult} \tilde{f} \geq 2$  such that

$$f(x, y) = a_1(x - x_1) + a_2(y - y_2) + \tilde{f}(x - x_1, y - y_2)$$

- (a) § 38  $A_x(k) = \tau_{\underline{a}}(L(\tau_x(k))) = a_1(x - x_1) + a_2(y - y_2)$
- (b)  $f$  is smooth at  $x \Rightarrow A_x(k) \neq 0 \Rightarrow (a_1, a_2) \neq (0, 0)$  Put  $A = \begin{pmatrix} a_1 & b_1 \\ a_2 & b_2 \end{pmatrix}$
- $A \in \text{GL}_2(k) \Rightarrow \Delta = \det A \neq 0 \Rightarrow A^{-1} = \sigma^{-1} \cdot \begin{pmatrix} a_2 & -b_2 \\ -a_1 & b_1 \end{pmatrix}$  Concretely: Description of  $A^{-1}$  is the key L.A. moved

$\sigma = \sigma_x \sigma_y \Rightarrow \sigma^{-1} = \sigma_y^{-1} \sigma_x^{-1} \Rightarrow (\sigma^{-1})^* = (\sigma_x^{-1})^* (\sigma_y^{-1})^*$  Can we write constant when  
 $(\sigma^{-1})^*(P) = \sigma_x^{-1} \sigma_y^{-1} (P) = \sigma_x^{-1} (a_1 x + a_2 y + \tilde{P}) =$  vanishes the monomial  $x$   
and the coefficients of  $x$  is 1

$= \sigma^{-1} \cdot (a_1 (c_2 x - b_2 y) + a_2 (-c_1 x + b_1 y)) + \sigma_x^{-1}(\tilde{P}(x, y))$  ! mult  $\tilde{P} \geq 2$ !  
 $= \sigma^{-1} \cdot (\underbrace{(a_1 c_2 - a_2 c_1)}_{=0} x + \underbrace{(b_1 a_2 - b_2 a_1)}_{=0} y) + \tilde{P} = y + \tilde{P}$   $\Leftrightarrow A = \begin{pmatrix} b_1 & b_2 \\ a_1 & a_2 \end{pmatrix}$   
 $(a, 0) \neq (b, 0)$   
 $z=0 \Leftrightarrow \exists d: (a_1, a_2) = d(c_1, c_2) \wedge d \neq 1$

As mult  $\tilde{P} \geq 2 \Rightarrow \exists$  other mult  $\geq 2$   $\exists$  other  $(x, y)$  mult  $\geq 1$   $\tilde{P} = x + y$   
 if  $h=0 \Rightarrow$   $\text{mult } (\sigma^{-1})^*(P) = y + (h, g(x, y)) = y$   
 irreducible  $\Rightarrow g=0$

(c) follows (a)  $\leftarrow$

Theorem 88 Let  $L$  be an AFF over  $K$  given by  $l(x, y) = 0$ , if smooth at  $P = (x_1, y_1) \in V_K(L)$ .

- (1) Then  $\exists! P \in \mathbb{P}^1_K$  such that  $v_P(\alpha - x_1) > 0, v_P(\beta - y_1) > 0$
- (2) If  $l(x, y) = l_0 + l_1 x + l_2 y \in K[x, y]$  then for  $P$  from (1) holds:  
 $v_P(l(x, y)) = \begin{cases} = 0 & \text{if } l(x) \neq 0 \\ = 1 & \text{if } l(x) = 0 \text{ \& } l \notin (A_P(K)) \\ \geq 2 & \text{if } l \in (A_P(K)) \end{cases}$

Comments:  $K$ -rational points of the curve  $V_K$  are described via places  $P$  and tangents are recognized by DV  $v_P$

Proof Let  $l(x, y) = a_1(x - x_1) + a_2(y - y_1) \neq 0$  as for smooth at  $P$ .  
 $\Rightarrow \exists (b_1, b_2) \in K^2 \text{ span}_{K^2}(a_1, a_2): A = \begin{pmatrix} b_1 & b_2 \\ a_1 & a_2 \end{pmatrix} \in GL_2(K)$ , put  $\sigma = \sigma_x \sigma_y$   
 $(u, v) = \sigma^{-1}(x, y)$   
 $\Rightarrow \text{mult } (\sigma^{-1})^*(P) = \begin{cases} \text{either } u \\ \text{or } l(u) + m y g(u) + y \text{ which satisfies the systems} \end{cases}$

if  $\text{mult } \neq 1 \Rightarrow \exists! P \in \mathbb{P}^1_K: v_P(u) > 0, v_P(v) > 0$  (if  $v_P(u) > v_P(v)$ )  
 if  $\text{mult } = 1 \Rightarrow \beta = 0 \Rightarrow L = K(x) \cong K(y) \Rightarrow \exists! P = (\alpha) = v_P(\alpha) > 0$

Observe that  $\begin{pmatrix} y \\ x \end{pmatrix} = A \begin{pmatrix} \alpha - x_1 \\ \beta - y_1 \end{pmatrix} \Rightarrow \begin{pmatrix} \alpha - x_1 \\ \beta - y_1 \end{pmatrix} = A^{-1} \begin{pmatrix} y \\ x \end{pmatrix}$   $\Rightarrow v_P(\alpha) = 1, v_P(\beta) = v_P(0) = \infty$   
 $\Rightarrow \text{Span}_{K^2}(u, v) = \text{Span}_{K^2}(\alpha - x_1, \beta - y_1) \Rightarrow l(x, y) - l(x_1, y_1) = \underbrace{l_1(\alpha - x_1) + l_2(\beta - y_1)}_{\in \text{Span}_{K^2}(u, v)}$

As  $l(x, y) - l(x_1, y_1) \in \text{Span}_{K^2}(u, v) \in P: v_P(l(x, y)) > 0 \Leftrightarrow l(x, y) \in P \Leftrightarrow l(x_1, y_1) \in P$   
 $\Leftrightarrow l(x) = 0$   
 $(\text{Rnk})$

Let  $l(x) = 0$  in the rest of the proof  $\Rightarrow l(x, y) = l_1(\alpha - x_1) + l_2(\beta - y_1) \in \text{Span}_{K^2}(u, v)$   
 $v_P(u) = 1 \Rightarrow v_P(l(x, y)) > 1 \Leftrightarrow l_1(\alpha - x_1) + l_2(\beta - y_1) \in \text{Span}_{K^2}(u)$   
 $v_P(v) > 1$

com: The key role plays in the proof L.A.  
 $\Leftrightarrow \exists c \in K: (l_1, l_2) A^{-1} = (c, 0) \Leftrightarrow (l_1, l_2) \begin{pmatrix} a_2 \\ -a_1 \end{pmatrix} = 0$   $\leftarrow$   $\begin{pmatrix} a_2 \\ -a_1 \end{pmatrix}$  is col of  $A^{-1}$   
 $\Leftrightarrow \exists d \in K: (l_1, l_2) = d(a_1, a_2) \Leftrightarrow l \in (A_P(K))$